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P Ik ph— R R R 1)
3.1 #%E
32 MMEZ
3.3 #%2
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3.1.1 # K= A AL FE 4

F 1. R — BT, WA b LAY R A

MAF “dHILE”, “BA2E7, -, “HIA6RT, CEBRK
T6” , “HEBAIBET FAAEIEF A

o X FTA Ktk RITH
Q=1{1,2,3,4,5,6}
Q AR A H AR .
o Q#F%E A=1{1,3,5} B={56} ZAMEMEH.
o Fi Al BAARG MM FEH MR EEITH F.
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Kl 2. FREGSBH AR TR, THEBRERNELRZH
Qp = {EE,ER KRE RA}.
A R E S R T £ 4
F={0,{EE}{ER RE AR}, 0}
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i) 2. iE LR IIF R AR T X e

Tail, Tail
Tail
Toss Coin Tail,Head
Head, Tail
Head
Head,Head

Sample Space Q = {TT, TH,HT,HH}.

K. XA
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3.1.2 -3

%L 1.1 o-RE(FHHR)

BQHANETELS FHQOELTFEARELKR &£
(i) Qe F(LRFH)

(i) #FAcF, MA=Q—-AcF. Gt=%F#)

(i) 2A €F, i=12,... MU A eF (TaHFEH)
HF A o-Ra, (Q,F) H T % .

o o- RIS Arid H Ik 518 H i 2 3 M.
o F R—Ao-REFMTiHA (i), (i) A=
(i) FAeF, i=12.. . WNN2AeF. (THXEH)
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3.1.2 ¥ a = iE] &9 P R

R(Q,F) AT E.

(iv) 0 e F CRTHREH)

(V) 2ABcFWMA-BeF (£F4)
(Vi) BAE€F, i=1,2...,nN

U?:]_Ai, ﬂlr":]_A,’ € f

(AMRH, ARR)
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§ 3.1 ok

FEH12 -3
H LB R AR IR, R )

Q= {HH,HT, TH, TT}

AL ={TT} BKRARARE.

Ay ={TH} $—K EGH KR &.
Ay = {TH,HT} #RPIH—E—&.
Ay = {HH, TT} k% M.

e 6 o6 o
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§ 3.1 o-3%

) 6y o-33,
Fo= {@,Q}.
G= {@, (TT,HH},{TH, HT}.,Q}.

= {@, (TTY. {THY, {HT}, {HH},{TT, TH},{TT, HT},
(TT,HHY, {TH,HT},{TH, HH},{HT, HH},{TT, TH,HT},
(TT, TH. HH},{TT,HT,HH},{TH,HT, HH},Q}.

FoCGCF*
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3.1.3 B E AN AT L

X 1.2 3% (QF) A—-Ta=E. 4 P(): F—[0,1] A—heZ,
=

(i) % A ZMAEH, 1 0 < P(A) <1

(i) & Q HeREMH U P(Q) =1

(i) BFH A, Ay, AARTHEGEHFT], N

P (U?ilA,') = i P(A,’).
i=1

(Q,F,P) Z—ABEFE 2.
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§ 3.1 BEER

MEHNELR L RATTEBME=ANE, L FQRMEZN, |
WX TR TR R ERE, F A Q WX LT RAEMREEE,
A B EPH 2 SR

(Q, F,P)
|

Set  Collect of Set Measure

B, mE=14
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&AM R (Q, FF), AL E&AME X —MBE, 0<p <,
(1-p)? if A={TT}
P(A)=<¢ p(1—p) if A={TH} or {HT}
p> if A= {HH}

AR IE R SUAPLE I 7 1] (2, JF* ) o A 49 A AL 2 5L,
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3.1.4. MR
1. P(0) =0
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3.1.4. BEHHR

1. P(f) =0
2. (AW Thmit) EFMH A, Ay, ..., A, HFBHFHIMEGEAE,
|

P(ULA) = 3 P(A).
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3.1.4. BEHHR

1. P(f) =0
2. (AW Thmit) EFMH A, Ay, ..., A, HFBHFHIMEGEAE,
|

P(ULA) = 3 P(A).

3. (THME) # AC B, 1 P(B— A) = P(B) — P(A).
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3.1.4. BEHHR

1. P(f) =0
2. (AW Thmit) EFMH A, Ay, ..., A, HFBHFHIMEGEAE,
|

P(ULA) = 3 P(A).

3. (THAM) # AcC B, B P(B - A) = P(B) — P(A).
4. (3EMK) & AC B, 1 P(A) < P(B)

Y. Chen £ Rk AT



3.1.4. BEHHR

1. P(f) =0
2. (AW Thmit) EFMH A, Ay, ..., A, HFBHFHIMEGEAE,
|
P(ULL1A) = Y P(A).
i=1
3. (THAM) # AcC B, 1 P(B — A) = P(B) — P(A)
. (39AK) F AcC B, 1 P(A) <P(B)
P(A) =1 — P(A)

£ Rk AT



3.1.4. mEMHMR ()
6. (hikRIL) HEFAF A, Ao, An A n ANFAH, N
P (U1 A) = Y P(A) =Y P(AA)+ - -+(=1)""P(Ar--- Ay).
i=1 i<j

7. (R hmiE) HFFMH Ar, Ag, .o Ap A n ANEA D)

Y. Chen £ R AT



#1 3.3 ([0,1] L4344 Lebesgue M)
HR¥AZX N [0,1] ERALAIEG K 5 5 F A (0, 1].
e Q=10,1]
o F=DB([0,1]) 2&4[0,1] & FTH £ 89K 18 o- KeK.
o HEATHY [a,b] € F, a < b,
P([a, b]) = b — a.

(Q,F,P) A —ANBEFEF ).

Y. Chen £ R AT



5] 3.2 (3 n KA F)
Jh 2 F GG MBRAR Tnik o
o Qp={w=(w1-wp):wj€{H, T}, i=1,...,n}
o F={A:ACQ,} ROEUIATHH o- REL.
o MALMTHY Ae F, = X fE%
A
P(A) = ’2,7’

(Q, F,P) A —/NBEFEE ],

Y. Chen £ R AT



5] 3.2 (#3 n KA F)
b A - W SR LK P
o Qp={w=(w1-wp):wje{H, T}, i=1,...,n}
o F={A:ACQ,} RAEUIATEHY o- REL.
o EXME
B({i}) = pHHCn)(1 — p)#Tean)
AT Ae F, #00A

P(A) =) P({w}).

w€eA

(Q,F,P) £—ABFEZ .

Y. Chen £ R AT



321 MM E =

X 1.3 % (QF,P) —AERR. B4 X: Q- R #HAA
& x € R,

{w: X(w) <x}eF
WA X 2 F LT F

B AT EeE X

Y. Chen £ R AT



FALE & 65T
o %%F*‘*i’;ﬁ{%, ﬂ']Q = {1727374a5’6}'
1
P(A) = ¢

AFARTHE S 1<j<6.
o F=1{{1,3,5},{2,4,6},Q,}, ZX(w) = w,w € Q, FAFIXZ
HRFEHEMEZ?

Y. Chen £ R AT



§32 MMET=E

FALE & 65T
o %%F*‘*i’;ﬁ{%, ﬂ']Q = {1727374a5’6}'
1
P(A) = ¢

LPARTHHE, 1<j<6.

o F={{1,3,5},{2,4,6},Q,}, #X(w) =w,w € Q, APFIX~Z
HZRFENEMEE?

o {w,X(w) <1} ={1} ¢ F, FIAXTRF Ly E ¥,

Y. Chen £k AT



§32 MMET=E

FALE & 65T
o %%F*‘*i’;ﬁ{%, ﬂ']Q = {1727374a5’6}'
1
P(A) = ¢

LPARTHHE, 1<j<6.

o F= {{17375}>{2a4a 6}393}, 1§X(W) =w,w € Q, HIE X A2
HZRFENEMEE?

o {w,X(w) <1} ={1} ¢ F, FIAXTRF Ly E ¥,

o XHE MMM EEX

{ 1 w=1o0r3,orb
0 w=2,0rd,orb6

AMMEE.

Y. Chen £k AT



X 14 FXAF LHHENETE 5 xeR, 4
F(x) =P{w: X(w) < x}) =P(X < x)

AMMEE X G5 E

A ok R R

2. dmEx <y, MF(x) < F(y). (FEMEH)
3. FRAHEL M. (F&EBMH)
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§32 MMET=E

R LS EX A—MMEE, o RBAARA A IRART A
i, WARX ABHFUENEE. WL LA {ar,a,...}, W

p,-:IP’(X:a,-), i:1,2,...

AR A X BIBLE T E B

e pi>0,i=12...;

° Zizl pi = 1.
T’TFAJE/@. al da» as v aj
BE | pr|p2| P3| | pi

Table 1: % %

Y. Chen £ R AT



Consider (2, 7*,P) and the r.v.

0 ifA=A{TT},
X(A)=<1 ifA={TH} or {HT},
2 if A= {HH}.

The distribution function of X is

0 if x <0,

] = (1-p)? ifo<x<1,
T —p? if 1 <x<2,
1 if x> 2.

£ R AT



§32 MME=

X 1.6 —HMEE X AEEAEMEF, WmREFLE—H
B, HRAT &M
( ) SRR 8 —o0o < x < 00, *—l‘f(X)ZO

f—i—oo dX— 1

()i?}ﬁﬁ%]‘éﬁ—oo<x<oo,i}‘]P’(aSXSb):fabf(X)dx
f#RA X R E 5

£ R AT



EEDH w=(-00,00), MMEEXER, W RHEMNEEXAH &
B E f
fx) = e
X) = o
2o

W ARFEALE X IR ES 9 HR, RAX ~ N(p,o?).
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#] 3.4 (B EZMA) FIE— AL EMHARA: X (Qs, F,P) HiES:
PR =0k me g R = . 2 L

So(w) =4, Ywe Q3

16, wi=wry=H
Sr(w) =44, wiFw
1, wi=wry=T.

32, wi=wy=w3=H
8, wi,wo,w3 X FHAANA H
2,  wiw,wsEFH-AAH
1/2, wi=wry=w3=T.

£ R AT



§32 MME=

So=4

n=0 n=1 n=2 n=,

S,=d%

S,= ud’s

;= du?S

S=d'

B, B A 4 = SR (3-14%)




MM Z o)k R (R — RO R d 8etk) MARME £

11 3.5 (BAOIKCA) A ERALZ A Ak 80 = SRS P, B E % 3
WAL BT 5 BB K A, LA 3 B i Vs
Y

37 w1, W2, ws ;t‘qj;ﬁ-]ﬁj/]\yg H
0, wi,wr,w3EFH—AHH

0, wi=wr=w3=T.

Va(w) = (S3(w) = 5)+ =

P(V3 =27) = p’,
P(V3 = 3) = 3p*(1 - p),
P(V3 =0)=1—p*(3 —2p).

Y. Chen £ R AT



AT & LT R F 0

KMAREMEEXFY LT LR FM, TAX =Y, a5, R
P({we Q: X(w) # Y(w)}) =0,

F M

P{we: X(w)=Y(w)}) =1
BlF FEQ,F,P) LM T EX, Q=[0,1], FRHL Lo
#, PR0, 1] E#yLesbeguel| &, & X X(w) = w,

Jw if w#1i

| A .
P({w € Q: X(w) # Y(w)}) = P({5} =0.
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REAU S 1 69 Jk 2 b

o MEMAFF A AR T4, 4ok
P(A1 N Az) = P(A1)P(Az).

o ARFMAEIA, € TIME Y, 4uf

P(() A) = [] B(A)

ieJ ieJ

SHAETHIRET C THR AR 2o

Y. Chen £ R AT



% Yr B — I Hf

e O= {w = (wi,- .-, wp);,wj is —1 or 1 for each i};

e Fis the collection of all subsets of Q;

e Want: (i) market movement in different periods to be independent.
(ii) Fix 0 < p < 1. Probability of w; = 1 (“up”) for each i equals p.

g=1-p.

Thus P({w;wi = }i] =g iRpaliE, apg

I ({w; = x;}) = [ g2t x0/2
1 1
= (/2SI p(1/2) (1)

p({w =[50 ,Xn)})

For any A C Q,




% Yr B — I Hf

This is a probability model for independent movements in each period of a
multi-period, binomial model.

Note: In the formula

r\J\n—l

£ R AT



